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第２問

 Walking and running are entirely different forms of exercise. Running is commonly 
defined as a movement in which there is a clear moment when both feet are of the 
ground. Here are two simple models of running and walking. In walking, your center of 
gravity is at its high when it is right above one of your legs. In other words, in walking 
we move forward efficiently when right and left legs move alternately like a “ （①）

pendulum” This move is often characterized as “a rolling egg movement”（②）, when 
you are running, your center of gravity is at its lowest point when it is located directly 
above a leg－actually, the leg that is touching the ground. This leg serves as a kind of 
（③）that propels you forward by directing your center of gravity to move diagonally 
ahead. This  action enables you to get a  strong propelling force but it  also actually 
breaks your speed because you have to wait until your center of gravity is right above 
your leg again before you can start pushing yourself （④）again.

（１）文中の（①）に入る、最も適切な語句を選べ。

イ　right　　ロ　reverse　　ハ　slow　　ニ　fast
（２）文中の（②）に入る、最も適切な語句を選べ。

イ　Similarly　　ロ　As a result　　ハ　Nevertheless　　ニ　On the other hand　 

（３）文中の（③）に入る、最も適切な語句を選べ。

イ　condition　　ロ　spring　　ハ　fuel　　ニ　nourishment
（４）文中の（④）に入る、最も適切な語句を選べ。

イ　forward　　ロ　back　　ハ　acceleration　　ニ　slowdown
（５）本文中には、文法的に明らかに間違っている箇所が一箇所ある。該当部分を抜き出し、

訂正せよ。

  　

  


